1. y cosz=(y*+4y) sin z; Yy x_o:L Az = 0.025.
2. ¢ 112;2—2—32; ymzozl, Az =0.3.
3. xy’—yzZ:Utg%; yac:g:g; Az = -0.1
4. y’(z4+4)lny:$y; yw:0:2, Az =0.1
5. (z+1)dy— (z+1)*dz=2ydx; yI:O:—l; Az =0.1
6. (z+ 1)y In(x+1)=ylny; yI:1:4, Az =0.1
7. ysinz+y cosx=1; yr_0:—2; Az =0.1
8. zy =27y —y; yw:1:4, Az =0.1.
9. zeVy =(evV+1)In’z; yﬂE:l:O7 Ax=0.1
10. 2y==x (y’+x2 sinm) ; Y o :72; A:c:;—o.
2
11. (2?2 -2y) -2y =0; Yy =0; Az =0.1
z=1
12. y' =yx cos x; 110:1, Az =0.1
13. zy =y—3ze¥/"; yx:1:0, Az =0.1
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14. y—2x—2y =0; yw:O:O7 Az =0.1

15. zy/ cosg:ycosg—x; Yy =0; Az = 0.075
x z z=1

16. 2xy +3y=25; Y 121:0, Az = 0.05.

17. 23y —22y+2=0; yI:1:2; Az =0.1

18. dy+ (y—2?) dz=0; y1,0:1’ Az =0.1

19. y' =y+axe”; yx:():—l; Az =0.1

20. sin2y (1+2yz) vy = x; yL:O:O, Az =0.1

21. y(a?—4z—-5)y =2z; ym:O:2; Az =0.1

22. 222y +1=3z2y; ymzlzl, Az =0.1

23. xy?y =223 +y3; ym:1:—27 Az =0.1
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24. (b—dxy)dv+a?dy=0; Y =0; Az =0.1.
rx=1
25. <x+ xz—yz) de =ydy; Y =1; Az =0.1
r=1
26. 2y —y=y (lny—Inx) ; Yy =7; Az =0.1
r=1
27. y' cosx 4y sinx =cosx tg = ; Y =0; Az =0.1
=0
28. siny-y’ = xarctgx ; Yy =0; Az = 0.05.
=0
29. ye?V=np+1; Y =0; Az =0.1
x=0
30. (z+1)dy=(x+1-3y) dz; Yy =0; Az =0.1
z=0
31. zy =y (2—lny+lnz) ; Y =1; Az =0.1
rz=1
32. xy =3y—a°; Y =1; Az =0.1
z=1
33. ' tg2r =sin®3y; == Az =—.
Yy tgcxr =sin” 3y ; yw:z 15 T 10
4
! 3 1
34. JYzy' =y’ Inx; Yy =—— Az =0.1
r=1 3
/o .2 ™
35. Y sinx —y cosxz —sin“x =0; Y r=0; Amzﬁ.
)
36. (e¥T@ eV %)y =e® YV, y =0; Az =0.1
z=0
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37. 2> +y?=3zyy; ym:1:1; Az =0.1
38. zy' =12 +y?+vy; ywzozl; Az =0.1
39. 22y —322=y; yI:1:0 Az =0.1
40. (5+4x—|—x2) yy =3; ym:_2:—1; Az =0.1
41. y —2=z—vy; ywzozo; Az =0.1
42. zy =222 —y2+y; yz:1=0; Az =0.1
43. a:ydy:(nyxz) dx ; Y 1:1:72; Az =0.1.
44. zyy +y?=ya3; yIlel; Az =0.1
45. zy —4y—22=0; Y =0; Az =0.1

z=1
46. zy —3xy=2y; ym:1:1; Az =0.1




47. y2y +y?sin®z=y3tgx; y I_O:].; Az = 0.05.
48. zy =y +arctgx ; Y . =0; Az =0.1.

49. y (1+2%) ¢y =(2y—y?) z; yzzozo, Az =0.1
50. dy—(2zy+x3)dx:(); yw:():O; Az =0.1
51. ¢ ny=y Inx; Yy 121:1; Az =0.1.

52. y’73z:$2xy1, y$:2:0; Az =0.1.

53. y cos = (y*+4y) sin z; yx_0:4; Az =0.1
54. (x+1)dy— (z+1)*dor =2ydx; ywzozl7 Az =0.1
55. ¢y =ylnyn(x+1); ym:o:\/é; Az =0.1

56. ysinx+y cosx=1; y;L=0:1; Az =0.1

57. zy =2ty —y; yz:1:9; Az =0.1.

58. zeVy =(eV+1)In’x; yw:1:1; Az =0.1.

59. (2?2 —-2y)—=zy =0; yz:1:—1; Az =0.1




60. Yy =yux cos x; y =-2; Az =0.1
z=0

61. zy =y—3ze¥/”; Yy =2; Az =0.1
rx=1

62, y—2x—2y =0; Y =3; Az =0.1
=0

63. xy’cosg:ycosg—x; Yy :z; Az = 0.05

x x -1 O

64. 22y +3y=2a%; y =1; Az = 0.05.
r=1

65. 22y —22y+2=0; Yy =-2; Az =0.1
x=1

66. dy+(yf:£2)dx:0, Y =4; Az =0.1.

=0
67. ¢y —3x= ny ; y =1; Az =0.1
z 1 =2
68. y(x274x75) y =2x; Y =1; Az =0.1
r=1

69. 222y +1=3zy; Yy =-1; Az =0.1
r=1

70. zy?y =223 +y3; y =1 Az =0.1
r=1

71. (5—4dzy)dx+22dy=0; Yy =1; Ax

r=1
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72. (m+ x2—y2) dr =ydy; yz_1:;; Az =0.1
73. zy —y=y (lny—Inz) ; ylezl; Az =0.1
74. Yy cosz +ysinz =cosx tg - ; Y 170:2; Az = 0.05.
75. y e V=x+1; ym:0:—2; Az =0.1
76. (z+1)dy=(x+1-3y) dz; ymzoz27 Ax =
77. zy =y (2—lny+lnz) ; yIzlzl; Az =0.1
78. xy =3y —a°; yﬂ::1:37 Az =0.1
79. Yy —2=x—y; ybL:OZfl7 Az =0.1.
80. (et e¥ %)y =e® 7V, Yy . =2; Ar =0.1
81. 22 +y?=3zyy ; yw=1:3, Az =0.1
82. zy =22 +yZ+y; yz:OZQ, Az =0.1
83. 2zy —322=y; Yy =1; Az = 0.1.

z=1
84. (5+4x+a?)yy =3; yI:72:2, Az =0.1




85. zy -3 /xy=2y; Y =0; Az =0.1
rz=1
86. acydy:(y2—x2)dx, Y =3; Az =0.1
rx=1
87. zyy +y?=yax>; Y =-2; Az =0.1
=1
88. zy —4y—2°=0; Yy =1; Az =0.1
r=1
89. y2y +y?sinz=y3tga; Y =2; Az =0.1.
=0
90. zy =y-+arctgzr; Y =2; Az =0.1
r=1
91. ¢ cosx:(y273y) sin z ; Y =1; Az = 0.025.
x=0
, 2zy
92. — =1-2x; Y =1; Az =0.1
1+ 22 0
93. my’:yfi%xtgg; y :%; Az =0.1
x =3
94. y (25+1) Iny=32y; Y =2; Az =0.1
=0
95. (z+2)y — (x+2)°%=2y; Yy =4; Az =0.1
=0
96. (z— 1)y In(xz—1)=ylny
97. ysinx +y coszr=2x; Yy =-1; Az =0.05
=0
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